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Find theSum _ / Find the Difference
(—4c+75+8)+(¢2—5c—3) (14x4 - 3x2 + 2) — (3x3 + 4x2 + 5)
;
e
1<+ 9c. 5

Find the Product
(10z-3)2

Find the Product
(a-9){a+9)

Give the Degree, Leading Coefficient,
Constant. Name the polynomidal.
5x2—-3 + éx—17x4

Why isn't the following expression a
polynomial?
-3b2 + V5 - 22x3

Find the Product
-3x(2x + 5)

Find the Product
(6w —3)(-3w + 4)




Find the Product
(x + 3)(2x2 + 5x - 2)

Find the Product
5w2(3w3 —2w + 1)

Find the Difference
(5 —x4—2x3) — (-6x2 + 5x + §)

Find the Sum
(2x4 - 8x2 + 10) + (-3x3—15x2-10)

Find the Product
(m+11)2

Find the Product
(2x—8)?

Find the Product
(5r+ 1)(5r-1)

Simplify the expression.
(n+1)(n+5)+ (4n-2}(3n + 1)
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Find the Sum FiRdth& Differenc
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Find the Product Find the Product -9
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Give the Degree, Leading Coefficient, Why isn't the following expression a
Constant. Name the polynomial. polynomial?

5x2 -3+ 6x—17x4
266(/961 17’
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Congtant : -3

-3b2 + 2 - 22x3

Becavse -3 is not
a whole :ﬂ"

Find the Product
-3x(2x + 5)

2
-Lx "~ ~15x

Find the Product
(6w — 3)(-3w + 4)
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Find the Produd‘
(x + 3)(2x2 + 5x - 2)
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3 |éx -6

Qx UxT+13x - &

Find the Product
5W2(3w8 — 2w+ 1 )

1505° - 10W° £ "

Find the Difference
(5 —x4—2x3) — (-6x2 + 5x + 5)
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Find the /um
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Find the Product

Find the Product
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Find the Product Simplify th ion.
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